FE6ERR—YVDFESFy AhE/MEERERR
FEH27412H13H
FYJERLY SHERERAR—YEVE—

6 FE B FEEH (50kgLTF)
K4 mE r HE
TR BE ERLERESST EER 45 —
2%k WE EERESR BIER 46 —
32E R ARAREAR—VLER WLOR 36 s
4EE H— EEREAR—VLER WO8R 40 —
5 KE ZTIREEHE BRE 45 55
6 A Eil ABUEEYST wng 32 =
THE KE  ERELNES BEE 42 515
8 M HE SHAK—VIER EER 48 —
9ME BA ZREBAK—VALER WLOR 4 —
10RE BE HERECERERE BiRE 46 568
NEA 8% ERESFEREIST XHB 40 —
12 &Il FE RINRERR—YLEEHA LAR 50 554
13 =% W4 BEHEEEAL—VOEE LR 45 519
141k Ht BRERES LaR 43 —
15 £ HEEES mER 38 =%
16 =% &3 OBZEAR—VLER WOR 49 560
17 R8I B HEGZESHOELLH AR 22 —
1BRE BRE HLYZERK—VLEE WOR 28 556
19 NEE BB ERECERERE BRE 41 576
20 WE ££ KEREHE EER & —
2 #E RiF THWREHS wog 43 —
2 +3# B BREFEAK—VLER BRE 45 570
B ESN & DEAGERESOCEZEN mRH 35 —
24 KN BASM BIREAR—VHER  LOK 40 558
25 %E g (EHB BER 40 "o
68 AE  FERES BIER 46 —
27 WA BW THWEREHS Wwog 40 —
28 it B EEOEEES ST xHR 3 .
20 Ml B ALYRERK—YLER WOR 40 —
30 KE BE KRS EER 48 560
3 HE BR aEROEREHE BRE 385 o
2 WA B HRHEREIST EER 4 —
BEHN — =NEREHE BRE 46 =
3 B4 A BBRERA—VLER WOR 4 s
B[ B EERERA—VLER REUR 34 —
36 EE BEAR BIRERKR—YLER LOR 46 5-62
3 /A KA PEmES BER 45
B I BE ABKEER BEE 40 — 5-80
30 ME FIE RESELKEEIST AHR L —
40 R #E ALYRERR—VILER LOR 43 573
Mg B BIRERR—YLER WOR 32 ]
QAT BA GEERLERERE BiEE 48 56t
83 F8E BY HERELNES BEER 33
ME EE O EEREKE EER 3 7 578
45 =B £ KEES wog 40 565
46 5@ BA BEREXR—VAOER  LAOR 36 —
418w B HREEBR EBR 47 51
48 21l B REREIR—VOER  LAR 48 —
49 SR BE BERERE BER 46 566
50 NE E2B aEEOFEREHE BIEE 40




